" 22, GAMING You are shopping for a video

20. YOU BE THE TEACHER- The'coist to-a'store for an MP3 player is $60. The selling. ... -

$105

price-is $105.A classmate says'that the markup is 175% because S0 1.75.1s

- yoiir classmate correct? If not, explain how to find the correct percent of markup.

21. SCOOTER The scooter is on sale for 90% off the original price.
Which of the methods can you use to find the sale pnce? Which
method do you prefer? Explain.

Multiply $45.85 by 0.9, | Mulriply $45.85by0.1. |

Multip}y--$45.85,by.9.9, then ' Multiply $45.85 by 0.9, then_ .
add to $45.85. subtract fron $4:5 85 o

game systern. re o I\

. ) A $162 0% |

a. Atwhich store should you buy the e".ystem. B $155 30% 1

b. StoreAhasa Weekend sale. What discount c $160 25% |

must Store A offer foryouto buy the e o S
system there?

23. STEREOQ A $129.50 stereo is discounted 40%. The next
month, the sale price is discounted 60%:1sthe stereo

: Department Store“'-i;f
now “free”? If not, what is the sale price? P '

. . ... Jeans - 30,99
- 24, CLOTHING You buy a pair of jeans at a department store. '
. ) . Discount -10.00
a. What is the percent of discount to the nearest percent?
_ Subtotal 29.99
. b. Whatisthe percent of sales tax to the nearest tenth af SalesTax 1.5
a percent? o
b . Totai 31.94
c. The price of the jeans includes a 60% markup. : , B
After the discount, what is the percent of markup Thank You
- to the nearest percent? Sl e :
FCritical?

DAL You buy a bicycle helmet for

$22.26, which includes 6% sales tax. The
hehmet is discounted 30% off the selling
. price. What is the original price?

f@lﬂ? ' Game. R@W@W What you learned in previous grades & lessons

Evaluate, - '(Skills' Review Handbook)
L 26, 2600(0. 085) : 27. 150000.04)(3)y 7 28. 3200(0.045)(8)

29 MULTIPLE CHOICE Wh1ch measurement is greater than 1 meter? (Siczl!s Review Handbook)

. 38 inches ; . Iyard © 3.4feet (D> 98 centimeters
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